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Basic Concepts and Definitions:

Before we start the theory on Probability, let us define some of the basic terms
required for it.

Experiment

Random Experiment

Trial

sample space

Sample Point

Events
SIQLILINLS HHHHIH6T LOBHBILD 6UNTUIDBEHEIT:
BHDHH6| HHHHUWme OFHTLHIGSBEG (W1 BLHGHH CHemeuwimer Fev DglienL &
BHHSHHIBHM6N auenJwiens OlFuIGeurmLd.

Gamgemenr (Experiment)

gweuminig Gsrgemen (Random Experiment)
wpwsd (Trial)

gaploeuef (Sample space)

gapileited (Sample point)

mapsd (Event)
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1. Deterministic Experiment: It is an experiment whose outcomes can be
predicted with certainty, under identical conditions.

For example, in the cases-when we heat water it evaporates, when we keep
a tray of water into the refrigerator it freezes into ice and while flipping an
unusual coin with heads on both sides getting head - the outcomes of the
experiments can be predicted well in advance. Hence these experiments are
deterministic.

. o _piHuner Cangemen (o)) Someiorer Gammenenr (Deterministic experiment):
P55 PHUbSMaIHTET  DQULMLUTD  (pyeHemen (Tl  DIBluISEmIQuIS
Gammpement  HomenoTer Gammemen (o) o miBuimer GFTHenedt eTeTlILIBLD.
ABSHHISHT LTS, BHoJ HTHES maub@Gd Gurgd SiH QIS  LTBISH6V,
GolifgngHerl GuLiguiled BHewy meaudbGb CuTEH DIH UGS QUITS 2 MBEH6D
OBEID SHUBIPLD  HEDELMWILEDL Ul (H LOTBILLL  [BTeulwdHensd Gl Curg
smev  FemLliugl Cumais  Carhamanselled (e smen [HTD  (WareiCr  opiw
apgud. 61eiBou  DemeUIMDISHHID 2 _miHuimer (o))  FHiTomeiorer  CarsHmensel
DS LD.

Random Experiment : It is an experiment whose all possible outcomes are
known, but it is not possible to predict the exact outcome in advance.
For example, consider the following experiments:

(i) A coin is flipped (tossed)

(ii) A die is rolled.

These are random experiments, since we cannot predict the outcome of
these experiments.

. gwamiiys Gsmgener (Random Experiment): @ GCongememuisd mlapdanigul
SmaSHH  alleneneydsepd (peiTeni@y  OHTNHSH(HHBHTVID DiuBMleL 6lHFH  alenerey
BalCuUTHBE  aaiuma  (WaieCy  Fflwumesd  GFmevev  (pQUITSHI 666D,
SIFCgnmemnet FwaumuiiLg GCargener 6T6IlILIBLD.

dBHHBHHHT LB, Llesieumd CFripmennsemend HmHAHIGaITLD.

1. @ BTENILSHMS Fiewi(HFH6e0

1. @M uBMLMUW 2 (B (HHeL
BFCangpmeansel  FwaumuiF  Cangmensel  uGD. gy,  Eeumnslev
BaUGUITGLD alemenallener (Lpeitei@y SISl Rule0TI.

Key Concept

Trial A trial is an action which | For example,
wwid | results in one or several | "Flipping" a coin and "Rolling"
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outcomes.

Q601 DI6LVG LI60
allenena|demen 2 (haUTdh@GLD
I} CFuwed WpwBd
6TGUILILI(HLD.

a die are trials

© SHTJEILOTES,

(BITCUTLLISH 60 "GN (HFHED
LIS6mL_6mULI " (L (HHeV”
UM (LPUIBFH6IT HGLD.

A sample space S is the set
of all possible outcomes of
a random experiment.

g0 euriiys  Gamgpeneotulest
6T6L6VT  @l6M61T6H61T6T  H6uTLD
FnmIGeuer el ILI(BLD.
B Hement S oTeuT
GSMILILIL_6VTLD.

For example,

While flipping coin the sample
space, S = {Head, Tail}

While rolling a die, sample
space S=1{1,2, 3,4, 5, 6}

©_ HTJ6ILOTD,

@(H BITWLSHMSF G Curgl
amplOaiel S = {Hmev, L}

QM usmLmW 2 (BB Curg
ampiQeue S= {1,2,3,4,5,6}

Each
experiment 1is
sample point.
Gamrmemenuller
allenera]b
6TGUTLILI(HLD.

outcome of an
called a

eeU0leum(h
FamIL]6ier

While flipping a coin each
outcome {Head}, {Tail} are the
sample points.

@(hH [BTEwIWHmS &Gewi(hh Curg
H6M6V, L ALY
amIL|61T6T &B6MT(G)LD. Qb
usenLenul o (H(p Gurg 1, 2,
3, 4, 5 wBmb 6 SLFwimel
FamIL6ierN Henm(@LD

Any subset of a sample
space is called an event.

FamICeuerTuiler
9 | Bemi(LpLd
6TeuTLILI(BLD.

obdH @
H&HDFS

For example,

When a die is rolled some of
the possible events are {1, 2, 3},
{1,3}, (2,3, 5, 6}

©_HTTCRILONED,

QM usmLW 2 (BB Curg
Sl SH@GLD FTHELOT60!

mapsdsaiesd oo {1, 2, 3}, (1,
3},{1,2,3,5, 6}

Classification of Probability

According to various concepts of probability, it can be classified mainly in to three

types as given below:
1. Subjective Probability
2. Classical Probability
3. Empirical Probability

M BIDSE6):
B BLDSH B 60T
Lf&ase0mid.

HRNERTi

B(HHSIBBHNMe0(HHSI

PahHHalener  cLP6TD)

6U6DBHEHOITTSD
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i. P Habsse (Subjective probability)
ii. Gzraemw Papsse (Classical probability)
iii. ulLp Paewpsse (Empirical probability)

Subjective Probability

Subjective probabilities express the strength of one’s belief with regard to the
uncertainties. It can be applied especially when there is a little or no direct
evidence about the event desired, there is no choice but to consider indirect
evidence, educated guesses and perhaps intuition and other subjective factors to
calculate probability .

SIBHM6V HBDHH6:

® MIHIUTL BB Heilenioenu! UBMSIW @HauhenL Wl HIDLIHmBUIET 61edlenDmUl  IHH M6V
B&HDHH6| OeuallLBGHHIBSE. BTD HTUTSSGHD alenenabehdh@ CHIQUITERT FTTNBIH6N
Wed GHoBHS DMGal o 6Tem  IELeVGH  (LPUPEMWITS  B6060TSH  H(HEWIHIFHEITED
LOEDMB(LPHLOTET  FTRIBISHmenCUWIT, Splalemeoul L uysHHGeoT, 2 6fEmenttey cpeo@om
LOBBID HIBHMeL SHTTenNsH6T (LeoBT HBDSHBIMaTIES HewThEIL 60MLD.

Classical Probability

Classical probability concept is originated in connection with games of chance. It
applies when all possible outcomes are equally likely. If there are n equally likely
possibilities of which one must occur and s of them are regarded as favorable or

as a success then the probability of a success is given by % :

OB HHDSHH6:

OFHTHIMID HHDHHO| 6D  HHHSH uTuii]  alememum’ BaemMedhhadl  GUMBLILIL L ).
Bangpmeruler alleweaydel SMTHBHID FoeaumwilienUll uBBimeGH Curgk @&l
QUTHHBIHBH. @HH FOUTUILILGTET N HBaHelled @ HHDe [HIHD FTHILOTET S

auTIS6T @pUleT SbBasFF Ul HabHoHe] %maﬂa’s CaThHHHLILBHMBS.

Empirical Probability
It relies on actual experience to determine the likelihood of outcomes.

ulLy HaDHH6:
GrrumeT  SiILIIRISET cpevld  alleneneaseilel  HHHEHalenerd STewilg LU LNe6]

HHDHHE| DYGLD.

Empirical Probability:

Let m be the number of trials in which the event E happened (number of
observations favourable to the event E) and n be the total number of trials (total
number of observations) of an experiment. The empirical probability of

happening of an event E, denoted by P(E), is given by
P(E) = Number of trialsin whichthe event happend

Total number of trials
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P(E) = Number of favourableobservations
Total number of observations

ulLp mehsse:

m eeiugk E e papsdulear stasomer (pwuBdseiler eemicnldensd  6IpIdD N
aaiLgl  OQreHs  (pwBFaeler eewtenidbend e@ipid OGaTewiimed, E — &1 wulLpf
HBPBH6 6IdLens Liseumorsl auenyuipisbseord. SgHemer P(E) erers @il eomi.

P(E)= Bap 6| gnul L pwii Haeien eleuwt el 60

wpwp Heeller GLOTS & 6T6uT el Db
&1 L3 & FTHBLOTET HBHLD & FH6Medn 616301 600N M

P(E)=
E) st LB &H OTd S HBD & Fleerilen 616wt 6wl nd

eTe0i@ou, P(E) :%

Clearly 0 <m<n=0<"<1, hence 0< P(E)<1.
n

0<P(E)1

i.e. the probability of happening of an event always lies from 0 to 1.

BmIG 0<ms<n=0<"<1 915601 0<P(E)<1.
n

0<P(E)<1

SIFTUSH, RH BHSDFS PaspausBaeTear BHehsee| 6LGUTIPSHID 0 aledmba 1
wu o e gBHEID (T 6160 DGLD.

If P(E) =1 then E is called Certain event or sure event.
IF P(E) = 0 then E is known is an Impossible event.
If P(E) is the probability of an event, then the probability of not happening
of E is denoted by P(E) or P(E)

We know P(E) + P(E") =1; P(E') =1 - P(E)
P(E)=1-P (E)
i. P(E) =1 eefled, E etatiug o miglwner Blapsd]
ii. P(E) =0 eefled, E eretiug penlOup Suieons Mapsd)
@ Pawpsdular  Papsse PE)  eaeied, opPsnFd L OUBTLOed
Bnrugpatar Bapssma P(E') oeveg P(E) e 61(1pg60mib.

Events Explanation Example
Equally likely | Two or more events are said | Head and tail are
events to be equally likely if each one | equally likely events in
of them has an equal chance | tossing a coin.
of occurring
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Certain events

In an experiment, the event
which surely occur is called
certain event.

When we roll a die, the
event of getting any
natural number from
one to six is a certain
event.

Impossible events

In an experiment if an event
has no scope to occur then it
is called an impossible event

When we toss two
coins, the event of
getting three heads is

an impossible event.

Mutually
exclusive events

Two or more events are said
to be mutually exclusive if
they don't have common
sample Points. i.e, events A, B
are said to be mutually
exclusive if ANB=¢

When we roll a die the
events of getting odd
numbers and even
numbers are mutually
exclusive events.

Exhaustive events

The collection of events
whose union is the whole
sample space are called
exhaustive events.

When we toss a coin
twice, events of getting
two heads, exactly one
head, no head are
exhaustive events.

Complementary
events

The complement of an event
A is the event representing
collection of sample points
not in A. It is denoted A'or Ac
or A

The event A and its
complement A' are mutually
exclusive and exhaustive.

When we roll a die, the
event rolling a 5 or 6
and the event of rolling
a 1l 2, 3 or 4 are
complementary events.

a6 HID

B SHHIHHTL_ (b

Brewi®
Gomul L
@6 10GeUTETBID
SLOGUTUILIL|EB6IT Bmbhmev
SIUBEDBF GLOGUITUILIL |
BoFF H6T 6160185 GmTLD

DSBS
EIDEL T
BBLUSBE

KTV

2l BIEILIS®S
giewi(hLoGuITg) SHemL_&(GLD
HMEL LOBWID L, SLSluleme
FoUTUINL H&LEFFHe6l

R Gargpmenulsd HFFWIOTS
Bl&BpLD BSDFFenul
® migluiment B&&Fd
616015 GMTLD.

QM uUsmLmMUW 2 (HL(HLD
Gumgl  1-e0(mbHaH 6 eued]
® 6Tem  Buled  6TamTH6IT60
J8zaeID R Qlan)
BN b(GLD B&DF
2 _mIHwimer HSDFFWLMGLD.

Gamzremenuiev, (H
BHOL OB (PIQuUITSH

9
Gurmgib

@yewi(h [BIT600TUIMRIS606TT
G601 (HLD Gung CLPGITMI

PH: 044-24
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AN
GTGUILILI(HLD.

Suwieor B&DFS

&BemL_b(GLD
®wieom

SHENEVDH6IT
AN
BSDFFWLIMGLD

66D IITEIT ]
allevdhG LD
EANEZ N

Byei(h

Gomiiu L

SIVVH DSBS
BBDFF B EHDHE)
QuITgleureot FamILeiTerl 61T
BHEHETSI. SIbS
HHDFF BT  @eiTenBOIULITETN)
allevd@LD EANEZET N
aardCumd. A, B oadlwene
063TemMBOILITEIT] allevd @b
Pap&FFHe e1aiBTed A(B=¢

Q0 UsmLmUW 2 (HL(HLD
Gurg @MENMBLILIENL
616001 H61T LOBMILD
@ 6mL_LILIenL 616001 6T
Bl (GLD BBIDFF el
QeTmBOWTEID  @l6vdhELD
EINEZET

papFdsefer Gty eI
FapIoeuelumes B\mUieor
SIAUBM D Hlenpey gl
BBDFFH6IT 6163185 GMTLD

M HIMISHMS  SHLPDOD
Gewihld  Gumgdl  @yewi(h
HmeLFH6iT QBT @  HeMev,
HEN6V ©)6L6VITLDGL
BHleML_BHGLD BBIDFF HeiT
Beomey QFuI BHFFHe

BTl BebFHHer

A-Wlesr Mgl Blebsfumerg)
A-ufled B6060TSH LoMBMm
allenere|Bemensd OBTEwIL.  Fnml
LieiTedeT  ou@. Bangd A’
SIe0evH AS Sebeug A elans
GBI SSHEVILD.
A oppd A" sudwee
66TenBO\LITETX] allevdGLb
LOBMILD HlenBe] G&uiuyb
PapFFHenTd B(HBEGLD.

1) LIG6mL_ 6D
o Bl BGuTg 5, 6
SHlemL_LILIGHBST 60T

B&FFud wBpid 1, 2, 3,
4 SlemLLILIGHB ST 60T
(bl LD&F &L Byl
BBDFF BTG LD.

e
ne)_

n(s)
(@) _
n(s)

. P(S)=

. P(9)=

1. The probability of sure event is 1.

0

n(s)

. Since E is a subset of S and ¢ is a subset of any set,

=0 The probability of impossible event is 0.

pcECS
Pg< P(E) < P(S)
0<P(E) <1

Therefore, the probability value always lies from 0 to 1.

. The complement event of E is E

Let P(E) = % (Where m is the number of favourable outcomes of E

and n is the total number of possible outcomes).
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Number of outcomesunfavourabletooccuraceof E
Number of all possible out comes

P(E)=

Ey="1=m_,. M
P(E)= —"=1-2
P(E) =1-P(E)

6. P(E)+P(E)=1

o1

. P(S)=%=1. o mIHwnen HapFFuler HebsHaTaidh | SuGHLD.
=w=i=0 Buweom HaFFAUleT HapHIaUTHIH 0 LGLD.
n(s) n(s)
. E sea, S —er o U sauongld. Geuld ¢ OLeidhl  616060T
® | HenilonT@GID 6len1Gol
pcECS
Pyp<P(E) <P(S)
0<P(E)<1
LSBTV, HBHDHH6| LI erIOUTIPHID 0 (PpHe0 1 eued] E(HHGLD.

E —a1 My Mapssl E uGib.

- e, (Mm-sueigl  E-uler snghsioner aumuiliseT B@Id 6-Sieig)

QILOTS&  GUTUILILIEB6IT)
p(E)= EB®_o1580p D amuiiuss

Qomd &  eumul 1 L6
= - m
P(E) = -1
(E)=— -
P(E)=1-P(E)

6. P(E)+P(E)=1

Let S be the sample space associated with a random experiment and A be an
event. Let n(S) and n(A) be the number of elements of S and A respectively. Then
the probability of the event A is defined as

P(A)X n(A) _ Number of cases favourableto A
n(S) Exhaustivenumber of casesin$S

Axioms of probability:

Let S be a finite sample space, let P(S) be the class of events, and let P be a real
valued function defined on P(S). Then is called probability function of the event
A, when the following axioms are hold:
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[P1] For any event A. 1>PA)=0 (Non-negativity axiom)

[P2] For any two mutually exclusive events
P(AuUB) =P(A) + P(B) (Additivity axiom)

[P3] For the certainevent  P(S5) =1 (Normalization axiom)
Important Theorems:

1. The probability of the impossible event is zero ie.P(¢)=0
Proof:
Impossible event contains no sample point.
S SUP=S
P (Sug) =P(S)
P(S) + P(¢) = P(S) (S and ¢ are mutually exclusive)
P(¢) =0

2. If A is the complementary event of A, P(A)=1-P(A)
Proof:
Let S be a sample space, we have

AUA=S
P(AUA) = P(S)
P(A)+P(A)=1

(- A and A are mutually exclusive and P(S) = 1)

P(A)=1-P(A)

. If A and B are any two events and B is the complimentary event of B
P(ANB)=P(A)-P(ANB)

Proof: A is the union of two mutually exclusive events (Amﬁ) and (AnB)
ie. A= (AnB)U(ANB)
P (A)
P[ANB)U(ANB)]

(- (AnB) and (AnB) are Mutually exclusive)
P(A) = P(AnB)+P(ANB)

rearranging, we get P(ANB)=P(A)—P(ANB)

Similarly P(ANB)=P(B)-P(ANB)
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4. (Additive theorem on probability) If A and B are any two events
P(AuB)=P(A)+P(B)-P(AnB)
Proof: We have
AUB=(ANB)UB
P(AUB)=P[ANB)UB]
(- AnB and B are mutually exclusive event)
= [P(A) - P(A~B)]+ P(B)

P(AuUB) =P(A) + P(B) - P(AnB)
Note: The above theorem can be extended to any 3 events.
PAAuBuUC)=PA)+PB)+P(C)-P(AnB)-PBn C)-P(Cn A) +
P(A nB nC)

Conditional Probability:
The conditional probability of an event B, assuming that the event A has
already happened is denoted by P(B/A) and is defined as

P(B/A) = P(Ff‘(Q)B) provided P(A) #0

Similarly

P(ANnB)
P(B)
HaFd A gBaaiCa Hawbaemen Bemsouled A —a1 BHubdemeruisdy B — e

gniiyplensy P(B/A) etens @plesliLGana B3I

P(A/B)= Provided P(B) # 0

P(ANB)

P(B/A) = T

; P(A) #0 et suengwmissliLBaBS).

P(ANB)

®6x Gumed P(A/B)= P(B)

; P(B) # 0 et suemguwumissal LB

The probability of the simultaneous happening of two events A and B is
given by
P(A nB) =P(A/B) P(B) or P(An B) =P(B/A) P(A)
Two events A and B are said to be independent if and only if
P(AnB) =P(A). P(B)

Ex.

Two cards are drawn from a pack of 52 cards in succession. Find the
probability that both are Jack when the first drawn card is (i) replaced (ii)
not replaced

(i) Let 4 be the event of drawing a Jack in the first draw,
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(i) B be the event of drawing a Jack in the second draw.
52 FL@pdeil OamemiL @ FLBSHLIge0HHH  Drewi®  FLBH6T  eesTmeiNest
PIBTH  eiBdsLILBSEmer.  eBHaIUBL Bm  FLBaepd e (Jack)-ous
BmES HHDHHaNneT  LIeTaU(HD BILHHEMIHENT LIgdh HT6wISH.
1. (pH6eled eihdbalILLL FIU B WD FI bd HL 1960 meusbBLILBHMBSI.
1. WpHedev aTBHBLILL F B WewiB FL(hd S 1960 MaUHBLILIL 606960
Case (i)
Card is replaced

n(A) =4 (Jack)

n(B) = 4 (Jack)

and n(S) = 52 (Total)

Clearly the event A will not affect the probability of the occurrence of event
B and therefore A and B are independent.

P(AnB)=P(A).P(B)

4 4
P(A) = E’P(B)_ﬁ
P(AnB)=P(A)P(B)
4 4
52" 52
1

169

Case (ii)

Card is not replaced

In the first draw, there are 4 Jacks and 52 cards in total. Since the Jack,
drawn at the first draw is not replaced, in the second draw there are only 3
Jacks and 51 cardsin total. Therefore the first event A affects the
probability of the occurrence of the second event B.

Thus 4 and B are not independent. That is, they are dependent events.
Therefore, P(AnB)=P(A).P(B/A)

P(A) = %

3
P(B/A)=—
(B/A) a1

P(ANB)=P(A). P(B/A)
3

o1

1
Bayes' Theorem:
If A1, Ay, As, A, are mutually exclusive and exhaustive events such that
P(Ai)>0,i=1, 2,3 ... nand Bis any event in which P(B) > 0. then




APPE&> L0O

STUDY CENTRE
CHENNAI

P(A;/B) = P(A)P(B/A)
1 P(A)P(B/A)+P(A)P(B/A)+..+P(A)P(B/A)

Cuuiflwer GzimLD:
A, B @BOBOWTSIH  alevddlul  OBBID  WTeeTelul
Bapsdaemmasad Guwebd P(A)) >0.i=1,2,3 n opEid B eresig.
gCasa@ib @p BapFAuwrsad Guweid P(B) > 0. sefev
P(A;/B) = P(A)P(B/A)
P(A)P(B/A)+P(A)P(B/A)+..+P(A)P(B/A)

ODDS:

The word odds is frequently used in probability and statistics. Odds relate
the chances in favour of an event A to the chances against it. Suppose 'a'
represents the number of ways that an event can occur and 'b' represents the
number of ways that the event can fail to occur.

The odds of an event A are a : b in favour of an event and

P(A) = -2
(A) a+b
Further, it may be noted that the odds are a : b in favour of an event is the

same as to say that the odds are b : a against the event.

If the probability of an event is p, then the odds in favour of its occurrence
are p to (1-p) and the odds against its occurrence are (1 - p) to p.

FT5s EEID sneHsopp ealdgmsen (Odds):
yetefulwied wBmId Habssalsd aldsmiser eam CFTe0 SHE Dlenaied
LWSTUGSSILGHBSH. @h HapFFuled A — &GHF F1HH LBDBID DISHBES
UTSHBLOTE o 6o Hiapalmens OHTLTUGSHMISH aIFHBHOTGWD. a 6IalH @
PapFd ahsmear alfsefled Bapdpa wppw b aeugs 916  BapFS
IHSHMe aflH6eMe0 BLED BUIVTH TRILIMBUD GHBISHBSHI 6T65TH.
a

P(A) = b
Gueud @b BaEFS MPaDaUSBGHF FTHBOTE lHID a : b eI e
QpPBDFFBG UTHB0OTa lFsHd b : a e  epHeOTd. Q@  HHDFS
(5B LD6UHBHT6 Hapsse] eale, P-&@ grsswrar aldsnd 1-p  ou@b
wBpid 1-p & ursswrear aldsd P SLGLD.

A man has 2 ten rupee notes, 4 hundred rupee notes and 6 five hundred
rupee notes in his pocket. If 2 notes are taken at random, what are the odds
in favour of both notes being of hundred rupee denomination and also its
probability?

Syewih UHS epuTWl 4 BTG apUTUWI WOBMID 6 gYbh&l AhUTWI  HTETH6T  e(HeUT
UTSHOBL 1960 2 6fTeNgl.  FOaUTUILIL  (pedpuilled 2 HT6eiTsHeT  61(BSHBLILBET360T.
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Seualyeni(hy  SHTeH6T HIW  HUTLI  HTeTHeMTE SQBUUSBGF F1Hd S HD
IOBBILD DISHST HHLDHH6) 616316017

Solution

Let S be the sample space and 4 be the event of taking 2 hundred rupee
note.

Therefore, n(S) =12, = 66, n(A) = 4c; = 6 and n(A) = 66 - 6 = 60
Therefore, odds in favour of 4 is 6: 60

That is, odds in favour of 4 is 1: 10, and P(A) :1—11

A manufacturer tested 1000 cell phones at random and found that 25 of
them were defective. If a cell phone is selected at random, what is the
probability that the selected cellphone is a defective one.
@ 2 pusHwment o Busdwmer Geeved LGuFseafledmba (Cell phone) 1000
OFevellL LIGudsemen  Foeumuili] (wempuled CaThHOHBHH GaTHHHI LMTHHH 60
25  OFevelLlIBuUAB6T  GHemmUTHmL W 6l HewIBLISSLILLL G eTeflev,
Foaumui] (wepuiled GHTbOHBHHGHW @ 6Fe0lLLICUS  GmBUTHML WSHTH
B HEH HBDHH6 616316017
Solution:

Total number of cell phones tested = 1000 i.e., n = 1000

Let E be the event of selecting a defective cell phone.
n(E) =25 i, =3
P(E) - Number of defective cellphones

Total number of cellphonestested

_m 25 1

n 1000 40

3. Two unbiased dice are rolled once. Find the probability of getting
(i) a doublet (equal numbers on both dice)

(ii) the product as a prime number

(iii) the sum as a prime number

(iv) the sumas1

®yewi(y Fmen UsmLB6T (pempwntd @8y CrysHsled o (HL L LILI{bHE e

(1) rewip UBMLHeMaID BT (P HII] Hewl 5D

(1) W WA BN OLITHEHBHMBLIVET LIBT 6I6HIeNITHS &enl b

(1) W& HILGBeTET FnBH60 LIST 6lewmieniTeHd Henl b

(1v) W& WA H6MET FmbBHO 1-45 EAHHD
P HBDFF BN HHDHH6|HM6NSH HTCIIH.

Solution:
When two unbiased dice are rolled, the sample space
S={1,1),(1,2),1,3),(1,4),15),(1,6),
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Let A be the event of getting a doublet
A={1,1), (2 2),(3,3),44), (5 5),(6,6)}
=6
pay-NA_6 1
n(S) 36 6

Let B be the event of getting the product as a prime number.
B={(1,2),(1,3),(1,5),(21),@3,1), 5 1)}
=6
6

P(B):%:

Let C be the event of getting the sum as a prime number.
C=1{(1,1),(12), (L4),(16),21),23), 25,62, G4,
4,1), 4 3), (5,2), 5, 6), (6, 1), (6, 5)
n(C) =15
n(C) 15 5

PO w1

Let D be the event of getting the sum as 1. Since it is an impossible event.
n(D) =0and P(D) =0

On a particular day a policeman observed vehicles for speed check. The
frequency table shows the speed of 160 vehicles that pass a radar speed
check on dual carriage way.

Speed (Km/h) | 20-29 | 30-39 | 40-49 | 50-59 60-69 | 70&above

No.of Vehicles 14 23 28 35 52 8

Find the probability that the speed of a vehicle selected at random is
(i) faster than 69 km/h. (ii) between 20 - 39 km/h.

(iii) less than 60 km/h. (iv) between 40 - 69 km/h.

R BDmauflsF gmemeouled GBIUILL @@ HTefled @h SHTEU6LT  EUTHETHISH6I 60
Goursdma Gammemen OCFUSHTT. SleuT GCarHemert OFUIH 160  EUTHENTHISG6N 60T
Gousmiseier Hapbeuenr LI IQuisd SO OBTHSSUILL (HheTerng.
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GousLd 70 b 9IHBS
(&).15/ 1am) GLogoild
61T 6TTEI S5 611 63T 14 23 28 35 52 8
6163016001 b 6D B

QRH UTEAHMBF Foaumuil] (weompuled BaThsbBEGWw Curg iger Geusld

i. 69 &S/ wenll — ;M ol oiFHs0TH

ii. 20 &8/ wenluledmba 39 &5 / wewll eaueny

iii. 60 &5/ enll-HGD GHmBaITS

iv. 40 &.68/wenfluledmba 69 H.18/wenl oy B HEHE BHDBHH6| 6leenn?

Solution:

i. Let E; be the event of a vehicle travelling faster than 69 km/h.

n(E)) =8 ie.m; =8
Total number of vehicles = 160. ie.n =160

ii. Let E; be the event of a vehicle travelling the speed between 20 - 39
km/h.
n(Ey) =14 +23 =37
m, 37

P(EZ) = T_ﬁ

i.emp; =37

iii. Let E; be the event of a vehicle travelling the speed less than 60 km/h.
n(Es) =14 + 23 + 28 + 35 =100 i.e. m3 =100

P(Es) = m, 100 5

n 160 8

iv. Let E4 be the event of a vehicle travelling the speed between 40 - 69
km/h.
n(Es) =28 +35+52 =115

P(Ey) = M 115 _28

i.e.my =115

n 160 32

The educational qualifications of 100 teachers of a Government higher
secondary school are tabulated below

Education

Age

M.Phil

Master Degree
only

Bachelor Degree
only

below 30

10

10

30 - 40

20

15

above 40

5

15
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If a teacher is selected at random what is the probability that the
chosen teacher has

i) master degree only

ii) M.Phil and age below 30

iii) only a bachelor degree and age above 40

iv) only a master degree and in age 30- 40

(v) M.Phil and age above 40
R o7& Gsvpleneoll LeTefuled uewmifluyd 100 sudfluiirseres

(
(
(
(

H60a &

HSHDHH6IT DI L auenentILBSHBLILIL (HelTeng).

&6vall [Blene

QWIS

Spuieflwed BlenmeEhit
(M.Phil)

(p&HIHM6VL! LILL LD
GUED]

Senmmiseneol] LI L LD
LOL_(HLD

30-b@F &b

5

10

10

30 — 40 euemy

15

20

15

40-i3@& Gosd

5

5

15

R odfflweny Fweuruiliy (penpuled CHTHOHBHGSGID Burgl SieuiT

1. (WPBHIHmeLL L LD euen] OuBmeusnsd E)(Hdbe

11. 30 awdBE GBUTETAIHBD UINTIUID HedBEHT UL CUBBEIITSALD
®HEH
40 auwdm@ GuBul LeapTaa|d @enmibeneoll L LD QUBBITSID &HdHd

iv. 30 ewg @b 40 WHBGSLULLaITEHID  (LPSHIHEN6VL
CUBBMITHAD B(HH.

V. 40 auwgdmE GuBulLeaugmsea b Spuialulsd HenmeEbT L LD GLBBeIITESaD
B mFS HBDHH6| 6T6d16017

Solution:

UL L LD

i. Master degree only = 1%

=L
20
ii. M.phill and age below 30
5 1

100 20
iii. Only a bachelor degree and age above 40
_ 40 _ 2

100 5

iv. Only a master degree and in age 30 - 40 = %

v. M.Phil and age above 40 = n
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In a recent year, of the 1184 centum scorers in various subjects in tenth
standard public exams, 233 were in mathematics. 125 in social science and
106 in science. If one of the student is selected at random, find the
probability of that selected student,
(i) is a centum scorer in Mathematics
(ii) is not a centum scorer in Science
uUSHSTDL  auGly BmsHsd CxiTaled uwLGuB UTLFES6N0 BIBBISE HIW
HOLTH6T GuBB 1184 wmewieuTHeafen, 233 Guii sewlgdddHeond, 125 Guir
gepsd  oMlealweleud, 106 GuiT oPielwedeid HMBBISGEG HIB GUBBIeTeT6EIT. &FLD
QUTUILIL] (LpewBUlled e(h Lomewiauenyd CHTHoHBHHGHLOLUTH DbFH LOTEwTEUT
1. Henlldpdhded BIBBISEG BHIB WHICUeET CUBBAIITS G (HEHS.
ii. opfelweled HIBBIGEG HTB CUBTHATTS ENHHD HHIDHHE| SHTCWISb.
Solution:
Total number of centum scorers =1184
Therefore n = 1184
(i) Let E; be the event of getting a centum scorer in Mathematics.
Therefore n(E) = 233, That is, r1= 233
_ 1, 233
P(El) - H:@
ii. Let E; be the event of getting a centum scorer in science.
Therefor n(E,) = 106, That is, r» = 106
r, 106

P(E2) = < ~11as

P (E) =1 - P(Ey)
106

1184
1078

1184

An integer is chosen from the first twenty natural numbers. What is the
probability that it is a prime number?
WPH0 BmuUg H Buied elemiBeMed(BhHEH @  (PLD  eTewl  Foaumulliy  (penmuiled
CHMHOHBIBILGHMBH. DbFH  6lewl  @H LSBT  6lewieniTd  EHLILSBSTET
HBDHBNM6IEH  HT6HIH.
Solution:

HereS=1{1,2,3 , 20}

n(S) =20
Let A be the event of choosing a prime number.
Then, A=1{2,3,57,11,13,17,19}




One card is drawn randomly from a well shuffled deck of 52 playing cards.
Find the probability that the drawn card is
BG SHMVHH DBBIHW 52 F(bpemend Omewi  HLIQed(HHEH  FLoeuUTUILL]

wpempuied @M FLB abhSHLIUGHBH. UeTau(hauaiauBBBG HHLDSHHH6|Hm6eNdH
SHITE0T .

Spade Clavor | Diamond

A
2
3
4
5
6
7
8
9

A |— |0tk |w| N>

10
J
Q
K

5W;Ow5©oox1crxmqkmm>.

13

—
(O8]

i. a Diamond (1658 .G LWwewi o5 SbHos)
Solution: The total number of cards, n(S) = 52
Let A be the event of getting a diamond card
n(A) =13 [- There are 13 diamond cards]
n(A) 13 1
SPA) = ——=====
(A) n(S) 52 4

ii. not a Diamond (165 FLB LUIDEWIL E)6060TLDED E)(hHb)
Solution: Probability of getting a non-diamond card
1 3

P(A)=1-P(A)=1-7 =~

iii. not an Ace
absHH FLB god FLLMS &606UTDED B(HHH
Solution: Let B be the event of getting an Ace card
n(B) =4 [+ There are 4 Ace cards]
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S
~P(B) 52 13
1 12

Hence probability of getting not an Ace card = P(B) =1-P(B) = 1——3 =33

A letter is chosen at random from the letters of the word
“ENTERTAINMENT”. Find the probability that the chosen letter is a vowel
or T. (repetition of letters is allowed)
“ENTERTAINMENT” eeti3  Qamevedevieiien  e1(lpdHdidbdeMel(hbdl  FoaumuiliL]
(pemmuiled 0 G1(LSHMH S Gxitey Glguiu, 916166 SH I LTEAR
o WEFWSHaTECT Slevevdl 61(pHH 1T uHCour DHILSBHTER  HHDHHoN60TH
SIS, (61(1DSHHIHET H(HDLS H(HDL GUFEVTLD)
Solution:
There are 13 letters in the word ENTERTAINMENT.
n(S) = 13.
Let A be the event of getting a vowel.
n(A)=5
Hence P(A) = nA) _&
n(sS) 713
Let B be the event of getting the letter T.
n(B) =3
Hence, P(B) = ' 2«
n(S) T13

P(A or B) = P(A) + P(B) A and B are mutually exclusive events
=22 €

. Then

+
13 13 13

In a group of students, 65 play football, 45 play hockey, 42 play cricket, 20
play football and hockey, 25 play football and cricket, 15 play hockey and
cricket and 8 play all the three games. Find the number of students in the
group. (Assume that each student in the group plays at least one game.)
QM  GHUWeled 65 TewelTaeT &TeoubHId, 45 GuT emrédsluyb, 43 Gui
SN B alenenumGHMITHeT. 20 GuiT ST6OLHSTL L (LD mn&@mw 25 @uir
STOLBHST L (D SMebesL B, 15 GuT amTésslubd SHibosl B wBpd 8 Gui
eLPGIT B allenemuimL (B 6em6NTu LD @ﬂammmrr@aﬂg}rrrrasm OIEIGIDRIRY) ®_6iTeN
LDITGO0TGUIT S 61TI60T 6160016001 E56MEBEMULIED  SHIT6U0IEb.
(616euT(H  LOTERIOIMILD  GHOBHHH! @H  allenernuiml Igenet  allenemuITHOUTT  6l6Tdh
OBT6ITH)
Solution:

Let F, H and C represent the set of students who play foot ball, hockey

and cricket respectively. Then n(F) = 65, n(H) = 45, and n(C) = 42.

Also, n(FNH) =20, n(FNC) =25, n(HNC) =15 and n(FNHNC) = 8.
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We want to find the number of students in the whole group; that is n(FU HU
C). By the formula, we have
n(FUHUC) = n(F) + n(H) + n(C) - n(FNH)
- n(HNC) -n(FNC) +nFNHNC)
=65+45+42-20-25-15+8=100
Hence, the number of students in the group = 100.

A and B are two candidates seeking admission to IIT, the probability that A

getting selected is 0.5 and the probability that both A and B getting selected

is 0.3. Prove that the probability of B being selected is at most 0.8.
A B B sdwu &m  elewiemniugmiser [T — uled Gaireusmarsds
STHHHLLNTH6T. BauTdefled A BaMhOsbBoHslILGusBETH Habssa 0.5, A
oppid B @mweumd  CaxbeshassliubausBastar  Habssa 0.3  ewlsd, B
CaMbOHBHBILBISBHTOT DHBULF HabaHse 0.8 eear meplibs.
Solution:
P(A)=0.5,P(AN B)=0.3
We have P(AUB) <
P(A) +P(B)-P (ANB) <
05+PB)-03 <1
P(B) <1-0.2
P(B) < 0.8
Therefore, probability of B getting selected is at most 0.8.

A coin is tossed thrice. What is the probability of getting two consecutive
tails?

@b [BIewWD pain  (WB SN UUGSBH. QTG  DBSIBSS LSBT
S LILGHBEHTE [HBHLDHH6 616016077

In a box there are 20 non-defective and some defective bulbs. If the
probability that a bulb selected at random from the box found to be

defective is g then, find the number of defective bulbs.

Q@ OGulguied 20 GBUTYELTSH aleNHGHHEHD @ Fev  GHmBUTHEML U
61T (&H B GIHLD o _6IT6IT6OT. QUL 1puleN(HHS FLOGUTUILIL| (LPEDMBUTED
CxMbOHBHHSILBLD @(H aleNSBTAIH  (GHMBUTHML WSHTE SHLILISMBSHTET  eUTUILIL]

gaao‘ﬂa'), GmBUTHmL W allend @ D66 6166w HemnHmUISH HT6NISH.

. A box contains 90 discs which are numbered from 1 to 90. If one disc is
drawn at random from the box, find the probability that it bears
(i) a two-digit number




APPE&> L0O

STUDY CENTRE
CHENNAI

(ii) a perfect square number

(iii) a number divisible by 5.

@M Gulguied 1 wWHed 90 euemy erewieniLLL 90 &I L a1606N6VHT 2 6IT6T60T.
QUL UTIHHEH @ Ul Laledensv Foeumuil] (wepulled BaJbHodHBHSLILL L6,
Sl

(1) @F mflevdd etewt

(i) G W ajs 6w

(i) 5 90 UGUGBLD @I clenienend OBTEUNYHLILSBHTR  HBHLDSHBM6ID
&B6WTL_NSlUIGYLD.

A die is rolled and a coin is tossed simultaneously. Find the probability that

the die shows an odd number and the coin shows a head.

QM usmL o (ULOUGD 6% GCBHIsHdHed @H BTN el LILBGHBS.
LsemL_uiled @MeBUILIENL 6T6u0T SHemL_LIUSHBS LD, [HIT6U0TULI &35 6L HEN60H
SHMLLILISBSLOTET HBHDHHEN6UD HTEWIS.

Gowri asked 25 people if they liked the taste of a new health drink. The
responses are,

Responses Like Dislike | Undecided
No. of people 15 8 2

Find the probability that a person selected at random

(i) likes the taste (ii) dislikes the taste

(iii) undecided about the taste
Qb UHw ol | FFHFH LTSI Seeuenwll uBpl Gserfl, 25 iomewieuTseriLLb
BHSHHBmend CaL LBIHHTT. HLHFH LH60DH6T LleTalHLOTH).

LI&60H 61T all(mLoLGeurit allmuTCHTT | (1p19 CeuBHSHHTEHTT
QTHs HLITSH6IT 15 8 2
@(H LoTewIaUem] FLoeuTuIlI (penpuled CHTOHBEGWD CUTH DIeUT Seneuenul
1. al@pbyueyTs il el pbUTHIITS 1. (1Y EUBHGHBTHAITTH
B (HEH HBHDHH6) 616316017

If A is an event of a random experiment such that

P(A) : P(A) = 7:12, then find P(A).

@ Foaumiys GCargmenulsd @b BHHpsFd A e6is. SbHaLFSuier By
Hapsd A aais. P(A)P(A) =712 aaled, P (A) mé srawmis.

Moderate

Find the probability that
(i) a leap year selected at random will have 53 Fridays
(ii) a leap year selected at random will have only 52 Fridays
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(iii) a non-leap year selected at random will have 53 Fridays.

LNevT6u(hHeUeToUBMBIMBHTE  HBHLDHHAM6DH BTN,

1. gweuruiiy  wepulled  BCHTHOHHHHILGD  GELLTamNgsd 53 Geusiteld
HIPMLDFHET  B)(HSHH6L

ii. gweuruiiy  wepuied  BCaMbOHBESIILGID  GBLLTewiged 52 Gleuelterid
BHIPemoH6T 1oL B B)(HHSH60.

iii. gweuruity  wevpuied BaTHOsBHSLILBL  FTamrem  eauBLSHHs0 (Non-leap
year) 53 GeuslafsaE oemioseT B)(HSSH60

The probability that a person will get an electrification contract is gand the

probability that he will not get plumbing contract is g The probability of

getting atleast one contract is g What is the probability that he will get

both?
RHAUHSG WIGIFTT QUUBSD SenLLILSBHTOT HHLDHH6] g LOBOILD (G LOTUIHENT

CUT(HSHSHIUSBEHTOT QLILHSHD HENLHSMO60 EHULSBHTET  [HHLDHH6 3 DS LD.
Gsuld GHMBHSLULFID gHTeUSH @(H QUUBSD S _SSIOUBIOISBEHTE [HEHLDHH6)
Z o660, BTN eLILHSEISEHLD SHlenL LILISBHTE HlBLDSHDH6) 6163160 !

Three fair coins are tossed together. Find the probability of getting

(i) all heads (ii) atleast one tail

(iii) atmost one head (iv) atmost two tails

PSSl FImet BreoTwmise (Wwenpwnd @8y CohIsHaled &6l LILIbhas a6

1. SIMAHFHID HMOWITHDH Henl HH

1. GOBHSULFID QH L, HenL b

1il. SIFSUFID @QIH HMeL HeDL HD

V. QIFBULFID DTewi(h LSHH6T HLdHd BHUBBEIBSTET [HlHLDHDH6) D6
SHITGWT .

A box contains cards numbered 3, 5, 7, 9, 35, 37. A card is drawn at
random from the box. Find the probability that the drawn card have either

multiples of 7 or a prime number.

@@ Ouiguied 3, 5, 7, 9, 35, 37 e elewiBeT  GHMIBHIUTL  FI(BBH6
© giteiedl. FOGUTUILIL] (pemBulled eIhSELILBL @h FLB DeIH  7-601 DL MISTH
SI6VEVSH| LIST 6T60T6nITd DHULSBHTERT HHDHHMUS HT6wIH.

A box contains 10 white, 6 red and 10 black balls. A ball is drawn at random.
Find the probability that the ball drawn is white or red.
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@ ewuulled 10 Geueitemer, 6 dleully B®ID 10 SEHLY HIBL UHSHIH6T 2 6iT6ren.
Foeumuii]  (penpuled @ UbSHenet 6IhHGHWOUTH DiFl GleusTeneT  HI60V60SHI
oy BBl uUbSTS SHUILSBSTET HBHDDHBAN6TDH HT6HIH.

A bag contains 12 blue balls and x red balls. If one ball is drawn at random
(i) what is the probability that it will be a red ball? (ii) If 8 more red balls are
put in the bag, and if the probability of drawing a red ball will be twice that
of the probability in (i), then find x.

@ eouuled 12 Hev @HIBLLBSHISEHD, X Feull] HBUUBHSHISEHD 2 6iT6re.
Foaumuily]  (peopuled @ Ubdsl CHIbhosdssliuGadmas. (1) i@ el
BBUIULSTS  QGBLUUSBETE  Hobdsmalds &rewias (1) 8 uysw  Heuly
BBLUUBSISET  SUmuuled  eusHdh  Uetery, @b  Feully  HIBLUUHMS
CaHIHOSBLILSBETE  HHheHBaumaid (1)-uled OGuBLU'L Habedsameult Gumeo
B HIOL MG 6leTeD, X-601 FHILTen6rIs SHTewIs.

Hard

The probability that a girl will be selected for admission in a medical college

is 0.16. The probability that she will be selected for admission in an

engineering college is 0.24 and the probability that she will be selected in

both, is 0.11

I. Find the probability that she will be selected in at least one of the two
colleges.

II. Find the probability that she will be selected either in a medical college

only or in an engineering college only.
@@ LrTewialdh@ WHHHeud sHeogumfluled GaTdema HdLUIUSBHTRN  HBHLDHH6]
0.16 e1eti®. GuISuIwed Heogumflufled Caidbensd HewLLILFBEHTET HHLHHe 0.24
BuID B Seoariseilled CFrhbend HwLLILSBHTE HHHDHIA| 0.11 6Teiev,
. wmsseud woppd  Qumpsuiuwed  seoerfisefled g8zxpamid @@  Heveumiluisd
CFiTbend HMLLILGSBHTET [HHDHH6| HTCHISD.
II. wmeHNs Heosumiuied I GEWT SleLevdH GUTKUIWIED SHevsumiuied 1oL HGLOT
GFiTbend HMLLILGSBHTE [HHDHH6| HT6HISD.

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted

both NCC and NSS. One of the students is selected at random. Find the
probability that

i. The student opted for NCC but not NSS.

ii. The student opted for NSS but not NCC.

iii. The student opted for exactly one of them.

50 omemeudet o eiten @@ auGliilen, 28 Guit NCC - ulgob, 30 Guir NSS-euib
oppd 18 Gur  NCC  wmpid NSS -qiub  GFTdBmTEeT. @@  LDT6wToUT
goauruity (wempuled BaThO&HBHSILIGSBTT 6T

i. NCC— uled @mba, apemmed NSS-60 &6060mineD
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ii. NSS— 60 @mbal, opemed NCC-ufled ©6vs0mined
iil. @8 @eamled WL B BaFTha)
BBULSBEHTR HBLDHH6HN6NSH  HTEWIS.

An urn contains 4 white and 3 Red balls. Find the probability distribution of
the number of red balls in three draws when a ball is drawn at random with

replacement. Also find its mean and variance.

R Osmeisevaied 4 Geusitemenuyd 3  Heuliyll UbBSHIBEHD 2 6lTermer. H(HLDL
MUSBGOTH FLOUTUILIL] (Le»BUTed cLP6ITDI (LPedM  LIhHIHMET e6SmedT LN6T 6iImTs
aBas@D Burg SHoLsG Feulll UbHIS6T6  cTanienlbendule HoHDHIAL
UFeuenevd Hmewid. Geud Fymafl, uFeumUly, SIS UIAIBENBEH HT6wISH.

If the number of incoming buses per minute at a bus terminus is a random
variable having a Poisson distribution with A =0.9, find the probability that
there will be
(i) Exactly 9 incoming buses during a period of 5 minutes
(ii) Fewer than 10 incoming buses during a period of 8 minutes.
(iii) Atleast 14 incoming buses during a period of 11 minutes.
@ Gumbsl Bowdsled, @B BOLSIBG o i@ eupd  GCuBbSIS6e
eTemTemlbend  LITUlermest LiFauenevll QUBNmeBdSBa eefled A= 0.9 eend Oomeumi(h.
1.5 P smev @ Geaueiulled Fflwmes 9 Cumbsiser 2 6TGem ey
ii. 8 P &m0 Bewl_Gaueiluled 10 &G GHvmauts GUbbhHIBET 2 6166 ]
iii. 11 Pl smev BenLGeuefluiled GemmbaUl Fib 14 CUpbhHIFET 2 666 ey,
HBDSHH6| SHTCWISH.

(GROUP 1, 2017, Section 15 Mark)

An Urn contains 3 Yellow and 4 Green balls. Find the probability
distribution of the number of Green balls in three draws when a ball is

drawn at random with replacement. Also find its mean and variance.
R OaTeTdeveled 3 LDEhF6T LOBBID 4 UFHF BIBLLHSHIGHET 2 6fTerner. H(HLDL
MeUSHGIOTE  Fo eutwil] (edmulled 3 (B  UHSDHIHMET eImeile QaIBTH
aBaHGD CuTgl HMLSHGWD UFHF BHBL UbHSHIHeTen elewrenldamadulle HoHDHBAL
UFeuenevd Hmewid. Geud Fymafl, uFeumBUy SSHUIBEDBS HTEIH.

(GROUP 1, 2019, Section A, 10 Mark)

The probability that a girl will be selected for admission in a medical college

is 0.21. The probability that she will be selected for admission in an

engineering college is 0.26 and the probability that she will be selected in

both is 0.12.

a. Find the probability that she will be selected in at least one of the two
colleges.

b. Find the probability that she will be selected either in a medical college
only or in an engineering college only.
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QU WTaialdh@ WhHHHNS Heoamiuled CaFTbemnsd SHwLLILSBHTE HHDHHe 0.21
aeiid.  QUTSuTwed severmfluled GFiTdend WL LILSBHTET HHDHH6| 26 LOBMID
B seoauilseiad Cgidmes S liLgBaTear HehHHe 0.12 666,
a. wmHFHeUDd B@ID  GuTBlulwed  Heoeumilseied gCHemd @  Heveumiluled
GaiThbma HWLLILISBHTOT HHDHHE| BHIT6HIH.
b. wmsseus Seveumiuied UGG &edevd I GUTuwIed Heveumuied 1ol HGLOM
GaiThbmas HWLLILISBHTOT HHDSHHE| HT6HISH.
(GROUP 1, 2019, Section B, 15 Mark)

(@) One card is drawn randomly from a well shuffled deck of 52 playing
cards. Find the probability that the drawn card is

i. a diamond ii. not a diamond iii. not and ace

(b) a number is selected at random from integers 1 to 100. Find the
probability that it is

i. a perfect square ii. not a perfect cube.

(@) BIIG SmeVSH DBGSIW 52 FBomend OCBTEHL S I9ed(HHSHI FLoeUTUILIL]

wopuled @ FLG abSaLLGHBH. LaeumaauBBiBGg HahHHe|Hemernnd
SHITCII .

1. 61(hdHH FLB LwWiew 5 O(HHs
1. adGHS FLB LW B6060TIDe0 B (HbHD
1. a5 FLG ged FLLTS Be06uToed B(HHD

(b) 1 wsed 100 euemguilevmen (W eTemIBEMeO(BHSI FOUTUINIL  (LPDBUT6D
CaiThOIHBSHBLILIBLD 6(H 616001
1L @ (PL) UTEHHTS (B([HHS.
i. wpw senors  @edeurosd  (not a cube) @méHs  @Sweumple
HIBLDH BB  SHT6u01H.

(DEO, 2019, Section A, 10 Mark)

(@) A bag contains 5 red balls and some blue balls. If the probability of
drawing a blue ball from the bag is thrice that of drawing a red ball,
then find the number of blue balls in the bag.

(b) If A is an event of a random experiment such that P (A) : P(A) = 7 : 12
then find P(A)

(c) There are 7 defective items in a sample of 35 items. Find the probability
that an item chosen at random is non-defective.

(@) e@m euuled 5 deuy wBEID Fevo [Hev BB LHSBIHET ©_6iTeren.
Siteuled®bs @b B BBL  UBMS TRUUSBSTET BHDSH6), b
Fouiy EplubmS BLUUSTBETET HBDHHANHT 3 OLMIEG 6laled DIIenLIUTeD
® 6o [HeV BIMLILIHSHIH6N 6T 61606001 HMNBHMUIS ST,
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(b) @m sFwamuiniys Csrpmenuied @ Babsd A s, oHe P (A) : P(A)
= 7:12 aaflsd P(A) & amemis.

(©) 35 QuTBLS6T SILMSHW BTG &mbled 7 OUT(HLH6T (& emBLIT(HENL UI6T.
IHOHTGUITHHSH @ uTmeT Fweuruily (penpuiled  BaiThHOHHHEG D
Curgl SIF GeoBUTLBB GUT[HETTE SHUILSBETET HIHDHH6] HTEHISH.

(DEOQO, 2019, Section B, 15 Mark)




